
Q.1

Ans
1. 

2. 

3. 

4. 

Question ID : 81616112931

Status : Answered

Chosen Option : 4

Q.2 Select the option in which the words share the same relationship as that shared by the
given pair of words.

Tissues : Histology

Ans 1. Mountains : Onomatology

2. Shells : Ornithology

3. Amphibians : Herpetology

4. Insects : Malacology

Question ID : 81616112914

Status : Answered

Chosen Option : 1

Q.3 िदए गए िवकʙों मŐ से वह संƥा चुनŐ जो िनɻिलİखत Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आएगी?

4096, 1024, 256, 64, ?

Ans 1. 8

2. 30

3. 16

4. 28

Question ID : 81616112617

Status : Answered

Chosen Option : 3
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Q.4 नीचे चार शɨ िदए गए हœ िजनमŐ से तीन िकसी संदभŊ मŐ एक समान हœ और उनमŐ से एक असंगत है। उस
असंगत शɨ का चयन करŐ।

Ans 1. की-बोडŊ

2. माइŢोफोन

3. ɘॉटर

4. वेबकैम

Question ID : 81616112508

Status : Answered

Chosen Option : 3

Q.5 नीचे चार वणŊ-समूह िदए गए हœ िजनमŐ से तीन िकसी संदभŊ मŐ एक समान हœ और उनमŐ से एक असंगत
है। उस असंगत वणŊ-समूह का चयन करŐ।

Ans 1. PLI

2. WRO

3. HDA

4. LHE

Question ID : 81616112608

Status : Answered

Chosen Option : 2

Q.6 वह िवकʙ चुनŐ िजसमŐ संƥाएँ एक दूसरे से ठीक उसी तरह से संबंिधत हœ िजस तरह से नीचे िदए गए
सेट की संƥाएँ एक दूसरे से संबंिधत हœ।

(12, 60, 84)

Ans 1. (13, 65, 81)

2. (15, 85, 105)

3. (16, 80, 112)

4. (14, 75, 98)

Question ID : 81616112620

Status : Answered

Chosen Option : 3

Q.7 वह िवकʙ चुनŐ जो तीसरे शɨ से उसी Ůकार संबंिधत है, िजस Ůकार दूसरा शɨ पहले शɨ से संबंिधत
है।

उȅर Ůदेश : इलाहाबाद उǄ Ɋायालय : : िबहार : ?

Ans 1. दरभंगा उǄ Ɋायालय

2. पटना उǄ Ɋायालय

3. नालंदा उǄ Ɋायालय

4. गया उǄ Ɋायालय

Question ID : 81616112610

Status : Answered

Chosen Option : 2
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Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112524

Status : Answered

Chosen Option : 4

Q.9 िदए गए कथनो ंऔर िनʺषŘ को ȯान से पढ़Ő। कथनो ं मŐ दी गई जानकारी को स̝य मानते Šए, भले ही
वह सामाɊ ŝप से ǒात तȚों से िभɄ Ůतीत हो, िनधाŊįरत करŐ िक कौन से िनʺषŊ िदए गए कथनो ं का
तािकŊ क ŝप से अनुसरण करते हœ।

कथन:
सभी टŌ ैƃर, कार हœ।
कुछ ˋूटर, कार हœ।
सभी ˋूटर, साइिकल हœ।

िनʺषŊ:
I. सभी ˋूटर, कार हœ।
II. कुछ कार, साइिकल हœ।
III. कुछ टŌ ैƃर, साइिकल हœ।
IV. कुछ टŌ ैƃर, ˋूटर हœ।

Ans 1. केवल िनʺषŊ II अनुसरण करता है

2. न तो िनʺषŊ I और न ही II अनुसरण करता है

3. केवल िनʺषŊ I अनुसरण करता है

4. िनʺषŊ I और II दोनों अनुसरण करते हœ

Question ID : 81616112616

Status : Answered

Chosen Option : 1
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Q.10 तीन संƥाओं मŐ से पहली व दूसरी संƥा का अनुपात 3 : 4 है, तथा दूसरी व तीसरी संƥा का अनुपात
5 : 6 है। यिद पहली और तीसरी संƥा के बीच का अंतर 1125 है, तो दूसरी और तीसरी संƥा का
औसत ǒात कीिजए।

Ans 1. 2750

2. 2507

3. 2570

4. 2075

Question ID : 81616112926

Status : Answered

Chosen Option : 1

Q.11

Ans

1. 

2. 

3. 

4. 

Question ID : 81616112624

Status : Answered

Chosen Option : 1
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Q.12 वह िवकʙ चुनŐ जो तीसरे शɨ से उसी Ůकार संबंिधत है, िजस Ůकार दूसरा शɨ पहले शɨ से संबंिधत
है।

9 : 91 : : 13 : ?

Ans 1. 183

2. 203

3. 132

4. 99

Question ID : 81616112618

Status : Answered

Chosen Option : 1

Q.13 गुना, ʴामला का पुũ है। हेमंत, मनु का िपता है। गुना की शादी दीपा से Šई है। गुना और मनु सहोदर
हœ। Ůतीक, दीपा का भाई है। ʴामला का एक ही बेटा है। रोशन, गुना का बेटा है। Ůतीक, कİʋका
िपता है। जितन, मनु का बेटा है। Ůतीक की कोई बेटी नही ं है।

तो बताएँ िक हेमंत का रोशन के िपता से Ɛा संबंध है?

Ans 1. दादा

2. साला

3. िपता

4. भाई

Question ID : 81616112918

Status : Answered

Chosen Option : 3

Q.14 वह िवकʙ चुनŐ िजसमŐ संƥाएँ एक दूसरे से उसी तरह से संबंिधत हœ िजस तरह से नीचे िदए गए सेट की
संƥाएँ एक दूसरे से संबंिधत हœ।

(59, 118, 295)

Ans 1. (10, 20, 37)

2. (15, 34, 45)

3. (9, 20, 25)

4. (17, 34, 85)

Question ID : 81616112520

Status : Answered

Chosen Option : 4

Q.15 अƗरो ं के उस संयोजन को चुनŐ जो दी गई Şंखला मŐ įरƅ ̾थानो ं पर Ţिमकŝप से रखे जाने पर
Şंखला को पूरा करेगा।

qpl_r_plt_qp_trq_l_r

Ans 1. q, r, l, t, p, p

2. t, q, r, l, p, t

3. q, p, r, t, l, p

4. p, t, r, q, t, l

Question ID : 81616112917

Status : Answered

Chosen Option : 2
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Q.16 गिणतीय िच˥ो ं का वह सही संयोजन चुनŐ िजसे Ţिमक ŝप से * िच˥ो ं के ̾थान पर रखने से समीकरण
संतुिलत हो जाएगा।

135 * 15 * 3 * 2 * 13 *16

Ans 1. =, ×, +, ÷, −

2. ×, +, =, ÷, −

3. ÷, ×, +, −, =

4. +, ÷, −, =, ×

Question ID : 81616112521

Status : Answered

Chosen Option : 3

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112630

Status : Answered

Chosen Option : 2

Q.18 वह संƥा-युƵ चुनŐ, िजसकी दोनो ं संƥाओं के म̡य वह संबंध नही ं है, जो शेष तीनो ं संƥा-युƵो ं की
दोनो ं संƥाओं के म̡य है।

Ans 1. (25, 216)

2. (64, 729)

3. (49, 512)

4. (36, 353)

Question ID : 81616112518

Status : Answered

Chosen Option : 4
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Q.19 िकसी िविशʼ कूटभाषा मŐ 'ONE' को '15-28-15’ के ŝप मŐ और ‘TWO’ को ‘20-46-45’ के ŝप मŐ
िलखा जाता है। तो उसी भाषा मŐ ‘SIX’ को कैसे िलखा जाएगा?

Ans 1. 38-18-48

2. 38-9-72

3. 19-9-24

4. 19-18-72

Question ID : 81616112512

Status : Answered

Chosen Option : 4

Q.20 वह सही िवकʙ चुनŐ जो िदए गए शɨों के उस Ţम को दशाŊता है िजस Ţम मŐ वे अंŤेजी शɨकोश मŐ
आते हœ।

1. Interchangeable
2. Independent
3. Intentional
4. Interesting
5. Interactive

Ans 1. 3, 5, 2, 4, 1

2. 1, 2, 3, 4, 5

3. 2, 5, 1, 4, 3

4. 2, 3, 5, 1, 4

Question ID : 81616112607

Status : Answered

Chosen Option : 3

Q.21 िदए गए िवकʙों मŐ से वह वणŊ-समूह चुनŐ जो िनɻिलİखत Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आएगा?

ROAD, SMDZ, TKGV, UIJR, ?

Ans 1. VGMN

2. VFNM

3. VHNO

4. VHON

Question ID : 81616112909

Status : Answered

Chosen Option : 1
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Q.22

Ans

1. 

2. 

3. 

4. 

Question ID : 81616112932

Status : Answered

Chosen Option : 3

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112525

Status : Answered

Chosen Option : 1
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Q.24 िकसी िविशʼ कूटभाषा मŐ 'RITU' को 'WLYX’ के ŝप मŐ और ‘AMAN’ को ‘FPFQ’ के ŝप मŐ िलखा
जाता है। तो उसी भाषा मŐ ‘MIRA’ को कैसे िलखा जाएगा?

Ans 1. PLUD

2. PNWF

3. RNWF

4. RLWD

Question ID : 81616112612

Status : Answered

Chosen Option : 4

Q.25

Ans

1. 

2. 

3. 

4. 

Question ID : 81616112930

Status : Answered

Chosen Option : 3

Section : General Awareness
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Q.1 भारतीय िनवाŊचन आयोग Ȫारा रा Ō̓ ीय मतदाता िदवस कब मनाया जाता है?

Ans 1. 6 मई

2. 26 जून

3. 25 जनवरी

4. 15 अगˑ

Question ID : 81616112953

Status : Answered

Chosen Option : 3

Q.2 िनɻ मŐ से कौन-सा पशु मेला िहमाचल Ůदेश राǛ मŐ लगता है?

Ans 1. डोगंरी महोȖव

2. नलवारी मेला

3. अिʷन मेला

4. मिणमहेश मेला

Question ID : 81616112631

Status : Answered

Chosen Option : 2

Q.3 भारतीय įरज़वŊ बœक नवंबर 2020 मŐ ______ पर दस लाख से अिधक Ůशंसक (फॉलोअर) रखने वाला
दुिनया का पहला कŐ ūीय बœक बन गया।

Ans 1. फेसबुक

2. ˘ैपचैट

3. िǩटर

4. इंːाŤाम

Question ID : 81616112653

Status : Answered

Chosen Option : 3

Q.4 िनɻ मŐ से कौन 'सी ऑफ पॉपीज' नामक पुˑक के लेखक हœ?
Ans 1. िवŢम चंūा

2. सलमान Ŝ̻दी

3. अिमताव घोष

4. रोिहंटन िम˓ी

Question ID : 81616112647

Status : Answered

Chosen Option : 4

Q.5 In terms of SI prefixes 10(-15) is called:

Ans 1. Atto

2. Femto

3. Zepto

4. Yocto

Question ID : 81616112638

Status : Answered

Chosen Option : 2
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Q.6 42वŐ संशोधन Ȫारा भारत के संिवधान मŐ नागįरको ं के मौिलक कतŊʩ िकस वषŊ जोड़े गए थे?

Ans 1. 1976

2. 1964

3. 1950

4. 1982

Question ID : 81616112548

Status : Answered

Chosen Option : 1

Q.7 ______ की जयंती, 31 अƃूबर 2020, ‘रा Ō̓ ीय एकता िदवस (नेशनल यूिनटी डे) के ŝप मŐ मनाई गई।
Ans 1. सरदार वʟभभाई पटेल

2. जवाहर लाल नेहŝ

3. इंिदरा गांधी

4. राजेȾ Ůसाद

Question ID : 81616112655

Status : Answered

Chosen Option : 1

Q.8 िहमा दास एक भारतीय ______ हœ।
Ans 1. िŢकेटर

2. मुſेबाज

3. तैराक

4. धावक

Question ID : 81616112652

Status : Answered

Chosen Option : 4

Q.9 िकसने िवŢमिशला िवʷिवȨालय को ̾थािपत और नालंदा िवʷिवȨालय को पुनजŎिवत िकया?
Ans 1. धमŊपाल

2. गोपाल

3. ŵी गुɑ

4. वासुदेव

Question ID : 81616112948

Status : Answered

Chosen Option : 1

Q.10 उस संतृɑ भूगभŎय इकाई को ______ कहते हœ, जो िकसी कुएँ तक पयाŊɑ दर से पानी लाने मŐ उसकी
मदद करती है।

Ans 1. ǜारनदमुख (ए̾चुअरी)

2. जलाशय

3. का Ŋː

4. जलभृत

Question ID : 81616112944

Status : Answered

Chosen Option : 4
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Q.11 Who authored the book ‘Reporting India: My Seventy-Year Journey as a Journalist’?

Ans 1. Chetan Bhagat

2. Prem Prakash

3. Anjan Sundaram

4. Khushwant Singh

Question ID : 81616112951

Status : Answered

Chosen Option : 3

Q.12 उȋादन के विधŊत ˑर से Ůाɑ लागत मŐ आनुपाितक बचत को Ɛा कहा जाता है?

Ans 1. बड़े पैमाने की अथŊʩव̾थाएं (Economies of scale)

2. समोȋाद (Isoquant)

3. उȋादन ŮकायŊ (Production function)

4. सम लागत (Isocost)

Question ID : 81616112533

Status : Not Answered

Chosen Option : --

Q.13 Which of the following is the common name of a natural admixture mineral of zinc
carbonate and hydrous zinc silicate?

Ans 1. Borax

2. Benzol

3. Calamine

4. Chalk

Question ID : 81616112536

Status : Answered

Chosen Option : 2

Q.14 भारत मŐ İˋल इंिडया िमशन की ɢैगिशप योजना कब शुŝ Šई थी?
Ans 1. 2019

2. 2010

3. 2008

4. 2015

Question ID : 81616112936

Status : Answered

Chosen Option : 1
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Q.15 2011 की जनगणना के अनुसार, भारत के िनɻ राǛों मŐ से िकसमŐ, बसे Šए गाँवो ं की अिधकतम संƥा
है?

Ans 1. िबहार

2. ओिडशा

3. पिʮम बंगाल

4. मȯ Ůदेश

Question ID : 81616112642

Status : Answered

Chosen Option : 1

Q.16 ______ is used to measure the pressure inside the eyes of a person.

Ans 1. Viscometer

2. Machmeter

3. Tonometer

4. Odometer

Question ID : 81616112636

Status : Answered

Chosen Option : 2

Q.17 'माशŊ गैस' का दूसरा नाम Ɛा है?

Ans 1. मीथेन

2. Ůोपेन

3. ɯूटेन

4. इथेन

Question ID : 81616112635

Status : Answered

Chosen Option : 1

Q.18 िनɻ िŢकेटरो ं मŐ से कौन बाएं हाथ का तेज गŐदबाज है?

Ans 1. आशीष नेहरा

2. इशांत शमाŊ

3. भुवनेʷर कुमार

4. उमेश यादव

Question ID : 81616112651

Status : Answered

Chosen Option : 1

Q.19 अलाउȞीन İखलजी के शासनकाल के दौरान, गयासुȞीन तुगलक ______ का गवनŊर था।
Ans 1. राज̾थान

2. कʳीर

3. बंगाल

4. पंजाब

Question ID : 81616112643

Status : Answered

Chosen Option : 2
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Q.20 ˢामी िववेकानंद ने वषŊ ______ मŐ िशकागो (संयुƅ राǛ अमेįरका) िवʷ धमŊ सʃेलन मŐ वेदांितक
दशŊन की सवŖǄता का उʟेख िकया था।

Ans 1. 1893

2. 1898

3. 1878

4. 1884

Question ID : 81616112646

Status : Not Answered

Chosen Option : --

Q.21 जनवरी 2021 मŐ, िनɻ मŐ से िकसे गुजरात İ̾थत सोमनाथ मंिदर Ɋास का अȯƗ िनयुƅ िकया गया है?

Ans 1. अिमत शाह

2. नरŐū मोदी

3. राजीव अरोड़ा

4. अिमताभ बǄन

Question ID : 81616112957

Status : Answered

Chosen Option : 1

Q.22 भारत की 2011 की जनगणना के अनुसार, िनɻ मŐ से कौन दूसरा सबसे अिधकआबादी वाला राǛ है?

Ans 1. महारा Ō̓

2. मȯ Ůदेश

3. गुजरात

4. राज̾थान

Question ID : 81616112539

Status : Answered

Chosen Option : 1

Q.23 'िचंकारा' मȯ Ůदेश राǛ मŐ लोकिŮय एक ______ संगीत वाȨयंũ है।
Ans 1. तारीय (İ Ōː ं ̑ड)

2. सुिषर (िवंड)

3. अवनȠ (मœŰेन)

4. ɘेट

Question ID : 81616112531

Status : Answered

Chosen Option : 4

Q.24 पोिलयो का टीका िनɻ मŐ से िकसने िवकिसत िकया था?
Ans 1. जोनास साʋ

2. रॉबटŊ कोच

3. एडवडŊ जेनर

4. एफ.जी. हॉपिकंस

Question ID : 81616112942

Status : Answered

Chosen Option : 1
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Q.25 यशोिवŤह, महीचंū और चंūदेव ______ राजवंश के पहले तीन शासक थे।
Ans 1. गहड़वाल

2. चौहान

3. वािडयार

4. मराठा

Question ID : 81616112543

Status : Answered

Chosen Option : 1

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112961

Status : Answered

Chosen Option : 1

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112661

Status : Answered

Chosen Option : 4

Section : Quantitative Aptitude
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Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112475

Status : Answered

Chosen Option : 4

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112969

Status : Answered

Chosen Option : 3
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Q.5

Ans
1. 

2. 

3. 

4. 

Question ID : 81616112575

Status : Answered

Chosen Option : 3

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112573

Status : Answered

Chosen Option : 4

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112562

Status : Not Answered

Chosen Option : --
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Q.8

Ans
1. 

2. 

3. 

4. 

Question ID : 81616112563

Status : Answered

Chosen Option : 2

Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112570

Status : Answered

Chosen Option : 3

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112665

Status : Answered

Chosen Option : 4

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112976

Status : Answered

Chosen Option : 1
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Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112672

Status : Answered

Chosen Option : 2

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112559

Status : Answered

Chosen Option : 1

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112667

Status : Answered

Chosen Option : 4

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112662

Status : Answered

Chosen Option : 4
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Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113487

Status : Answered

Chosen Option : 1

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 81616113485

Status : Answered

Chosen Option : 1
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Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112659

Status : Answered

Chosen Option : 4

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112555

Status : Answered

Chosen Option : 1

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112973

Status : Not Answered

Chosen Option : --
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Q.21

Ans
1. 

2. 

3. 

4. 

Question ID : 81616112568

Status : Answered

Chosen Option : 4

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112657

Status : Answered

Chosen Option : 4

Firefox https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQP...

22 of 30 9/2/2021, 7:27 PM



Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112477

Status : Answered

Chosen Option : 2

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 81616112668

Status : Answered

Chosen Option : 3

Q.25

Ans
1. 

2. 

3. 

4. 

Question ID : 81616113484

Status : Answered

Chosen Option : 4

Section : English Comprehension
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Q.1 Select the option that expresses the given sentence in reported speech.

He said to me, "It was raining all day."

Ans 1. He told me that it had been raining all day.

2. He told me it is raining all day.

3. He told me it has been raining all day.

4. He told me it was raining all day.

Question ID : 81616112987

Status : Answered

Chosen Option : 1

Q.2 Select the most appropriate synonym of the given word.

Abstain

Ans 1. Accept

2. Refrain

3. Reduce

4. Propose

Question ID : 81616112998

Status : Answered

Chosen Option : 2

Q.3 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. Shopkeeper: “Not at all. It is hardly a two-minute walk from here.”
B. Boy: “Can you please show me the way to the post office?”
C. Shopkeeper: “Go straight from here and take a right turn.”
D. Boy: “Is it very far off from here?”

Ans 1. BCDA

2. DCBA

3. BADC

4. CDAB

Question ID : 81616112693

Status : Answered

Chosen Option : 1

Q.4 Select the option that expresses the given sentence in active voice.

I was given a robot by him.

Ans 1. A robot by him was given to I.

2. He gave me a robot.

3. A robot by him was given to me.

4. A robot was given to me by him.

Question ID : 81616112582

Status : Answered

Chosen Option : 2
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Q.5 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed select ‘No improvement required’.

Bats huddle together to get warm of each other's body.

Ans 1. warming from

2. warm off

3. warmth from

4. No improvement required

Question ID : 81616112989

Status : Answered

Chosen Option : 3

Q.6 Select the most appropriate meaning of the given idiom.

Out of the blue

Ans 1. Completely honestly

2. Completely unexpectedly

3. Beat someone black and blue

4. Loves to wear only blue colour clothes

Question ID : 81616112699

Status : Answered

Chosen Option : 2

Q.7 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

All those students / who are participating / in the play / have been notify / to stay back
for rehearsal / after 3:00 p.m.

Ans 1. to stay back for rehearsal

2. after 3:00 p.m.

3. have been notify

4. who are participating

Question ID : 81616112581

Status : Answered

Chosen Option : 3

Q.8 Select the INCORRECTLY spelt word.

Ans 1. Uncle

2. Cousin

3. Nephew

4. Neice

Question ID : 81616112703

Status : Answered

Chosen Option : 4
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Q.9 Select the most appropriate meaning of the given idiom.

Twiddling one’s thumbs

Ans 1. Feeling hungry

2. Feeling bored

3. Feeling angry

4. Feeling sad

Question ID : 81616112700

Status : Answered

Chosen Option : 2

Q.10 Select the most appropriate ANTONYM of the given word.

Delight

Ans 1. Joy

2. Sorrow

3. Pleasure

4. Glee

Question ID : 81616112697

Status : Answered

Chosen Option : 2

Q.11 Select the most appropriate synonym of the given word.

Cadence

Ans 1. Habit

2. Freshness

3. Rhythm

4. Pleasure

Question ID : 81616112999

Status : Answered

Chosen Option : 2

Q.12 Select the most appropriate option to fill in the blank.

It was ______ to everyone present that the patient would not survive if immediate help
was not received.

Ans 1. unnoticed

2. unseen

3. hidden

4. apparent

Question ID : 81616113009

Status : Answered

Chosen Option : 4
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Q.13 Select the option that can be used as a one-word substitute for the given group of
words.

An examination of a dead body to determine the cause of death

Ans 1. Homicide

2. Analysis

3. Post-mortem

4. Suicide

Question ID : 81616112601

Status : Answered

Chosen Option : 3

Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. Ram introduced Shyam to everyone and then served snacks to them.
B. After he cut the cake, all of them danced for a long time.
C. When Shyam reached his house, his classmates had already arrived.
D. Ram invited his friend Shyam on his birthday.

Ans 1. ACDB

2. ABCD

3. DBAC

4. DCAB

Question ID : 81616112694

Status : Answered

Chosen Option : 4

Q.15 Select the most appropriate ANTONYM of the given word.

Barbaric

Ans 1. Inhuman

2. Civilised

3. Cruel

4. Brutal

Question ID : 81616112698

Status : Answered

Chosen Option : 2

Q.16 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

The news are true.

Ans 1. No substitution

2. are being true

3. is true

4. is being true

Question ID : 81616112584

Status : Answered

Chosen Option : 3
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Q.17 Select the most appropriate option to fill in the blank.

Crowds of tourists ______ across the square all day long.

Ans 1. rectified

2. flowed

3. maintained

4. prodded

Question ID : 81616112604

Status : Answered

Chosen Option : 4

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.

A person who presents a radio/television programme

Ans 1. Choreographer

2. Anchor

3. Comedian

4. Actor

Question ID : 81616112600

Status : Answered

Chosen Option : 2

Q.19 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

After entering the town, / go straight and then / take a sharpest turn / towards your left
/ to reach the mall.

Ans 1. towards your left

2. to reach the mall

3. take a sharpest turn

4. After entering the town

Question ID : 81616112681

Status : Answered

Chosen Option : 3

Q.20 Select the INCORRECTLY spelt word.

Ans 1. Plagiarise

2. Playright

3. Plough

4. Playful

Question ID : 81616112704

Status : Answered

Chosen Option : 2
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

John was an artist (1)______ profession. He was very (2)______ at his work and could
(3)______ any subject he could think of, but circumstances forced him to (4)______ in
(5)______ the work of renowned artists.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. from

2. off

3. about

4. by

Question ID : 81616112688

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

John was an artist (1)______ profession. He was very (2)______ at his work and could
(3)______ any subject he could think of, but circumstances forced him to (4)______ in
(5)______ the work of renowned artists.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. richer

2. better

3. best

4. good

Question ID : 81616112689

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

John was an artist (1)______ profession. He was very (2)______ at his work and could
(3)______ any subject he could think of, but circumstances forced him to (4)______ in
(5)______ the work of renowned artists.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. plaintive

2. painted

3. plant

4. paint

Question ID : 81616112690

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

John was an artist (1)______ profession. He was very (2)______ at his work and could
(3)______ any subject he could think of, but circumstances forced him to (4)______ in
(5)______ the work of renowned artists.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. specialize

2. synthesize

3. sanctify

4. socialize

Question ID : 81616112691

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

John was an artist (1)______ profession. He was very (2)______ at his work and could
(3)______ any subject he could think of, but circumstances forced him to (4)______ in
(5)______ the work of renowned artists.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. dominating

2. doubling

3. doubting

4. duplicating

Question ID : 81616112692

Status : Answered

Chosen Option : 4

Firefox https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQP...

30 of 30 9/2/2021, 7:27 PM


